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Fluency & precision 4

Write the correct calculation.

There are total of 72 students and there are 2 
school buses. How many students are there in 

each school bus?

There are 58 candies to be given away to 5 kids. 
How many candies would each kid have and how 

many leftovers? 

I have 357 marbles.
I want to put them equally in three jars.

How many marbles will there be in each jar?

There are total of 45 chapters for 5 books.
How many chapters are there in each book?

One taco costs £3. If I have £50, how many 
tacos can I buy and how much is my change? 

A tree has 285 apples. If these apples are put 
into 5 baskets. How many apples are there in 

one basket?

There are 3 hens and 5 cows in the farm.
How many feet are there in total?

There are 2 triangles, 3 stars, 10 pentagons and 
5 diamonds. How many vertices are there 

altogether?

NC Objective: Solve problems involving multiplying and adding, integer scaling problems and harder correspondence problems such as n objects are connected to m objects


